
South Pole Beacon Maintenance Trip Report2010
�%�5�B�I�5�F�M�������H�C���%�5�B�I�5�F�M�������
����������

���M�����5�B�=�9�@���"�C�@�8�9�B�����8�;�C�@�8�9�B�����G�H�5�B�:�C�F�8���9�8�I��

�.�?�=�=�B�;���C�I�H���H�C���H�<�9���5�B�H�9�B�B�5���K�=�H�<���H�<�9���F�9�D�5�=�F�9�8���H�F�5�B�G�:�C�F�A�9�F��

Summary ...............................................................................................................2
Background...........................................................................................................2
Objectives and Brief Results................................................................................2

�.�H�5�H�I�G�����9�:�C�F�9���A�M�����F�F�=�J�5�@��������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�(�M���/�5�G�?�G��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

Blasting the Ionosphere from the End of the World: A Play in Three Acts...3
���7�H���$�����.�C�I�H�<�K�5�F�8���#�C���������9�7�9�A�6�9�F���������+�.�/���H�C���%�5�B�I�5�F�M�������)�4���/����������������������������������������������������

�.�7�9�B�9���$�������=�8�=�B�;���/�=�A�9������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
���7�H���$�$�������9�5�I�H�M���5�B�8���H�<�9�����9�5�7�C�B����������������������������������������������������������������������������������������������������������������������������������������������������������

�.�7�9�B�9���$�����/�<�9�����9�5�G�H�@�M�����5�H�H�9�F�=�9�G��������������������������������������������������������������������������������������������������������������������������������������������������
�.�7�9�B�9���$�$�����/�<�9���(�5�M�<�9�A���5�H�����������(�9�;�5�<�9�F�H�N����������������������������������������������������������������������������������������������������������������
�.�7�9�B�9���$�$�$�����/�<�9���&�5�A�=�?�5�N�9���.�I�F�;�9�����F�F�9�G�H�C�F��������������������������������������������������������������������������������������������������������������
�.�7�9�B�9���$�1�������C�B�7�@�I�G�=�C�B�G������������������������������������������������������������������������������������������������������������������������������������������������������������������������

���7�H���$�$�$�����/�<�9���-�9�H�I�F�B������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
Summary of Changes and Words to the Wise.................................................11

�.�I�A�A�5�F�M���C�:���7�<�5�B�;�9�G���H�C���H�<�9���6�9�5�7�C�B����������������������������������������������������������������������������������������������������������������������������������������
�2�C�F�8�G���H�C���H�<�9���K�=�G�9����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������

Recommendations for Future Work.................................................................12
�$�A�A�9�8�=�5�H�9����������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�'�C�B�;�9�F���/�9�F�A��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������



Summary
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Background

This backgroundinformationis reproducedfrom the very thorough�1�'�! �/�F�5�B�G�A�=�H�H�9�F�-�9�:�9�F�9�B�7�9
�������� document,written by Ev Paschalin January,2005. Thereaderis advisedto refer to that
document for more information about the South Pole Beacon system.
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Objectives and Brief Results

Status Before my Arrival

���9�:�C�F�9�$�5�F�F�=�J�9�8�
�G�=�L�C�:�H�<�9�D�C�G�G�=�6�@�9�9�=�;�<�H�5�A�D�@�=�:�=�9�F�G�K�9�F�9�:�I�B�7�H�=�C�B�5�@�����A�D�@�=�:�=�9�F�� �K�5�G�C�B�G�=�H�9�

�6�I�H�K�5�G�9�L�D�9�F�=�9�B�7�=�B�;�D�F�C�6�@�9�A�G�K�=�H�<�D�5�F�5�G�=�H�=�7������ �(�#�N�G�=�;�B�5�@�G�C�B�=�H�G�C�I�H�D�I�H�����A�D�@�=�:�=�9�F�� �<�5�8
�6�9�9�B�G�<�=�D�D�9�8�:�F�C�A�.�H�5�B�:�C�F�8�
�5�B�8�8�=�8�B�C�H�5�F�F�=�J�9�5�H�+�C�@�9�6�9�:�C�F�9�"�9�C�F�;�9�@�9�:�H�����8�8�=�H�=�C�B�5�@�@�M�
�G�<�C�F�H�@�M



�6�9�:�C�F�9�A�M�8�9�D�5�F�H�I�F�9�
� �H�<�5�B�"�C�C�8�
�H�<�9�.�C�I�H�<�+�C�@�9�G�7�=�9�B�7�9�H�9�7�<�
�B�C�H�=�7�9�8�5�D�F�C�6�@�9�A�K�=�H�<�H�<�9�6�5�H�H�9�F�M
�8�=�G�7�<�5�F�;�9���J�C�@�H�5�;�9�G�
���K�<�=�7�<���D�F�C�A�D�H�9�8���8�=�G�5�6�@�=�B�;���H�<�9���6�9�5�7�C�B���D�9�B�8�=�B�;���A�M���5�F�F�=�J�5�@��

My Tasks
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Blasting the Ionospherefrom the End of the World: A Play
in Three Acts
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Act I: Southward Ho! (December 28 PST to January 4 NZDT)

Scene I: Biding Time
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Act II: Beauty and the Beacon

Scene I: The Beastly Batteries
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Scene II: The Mayhem at 4.7 Megahertz
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Scene III: The Kamikaze Surge Arrestor
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Scene IV: Conclusions
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Act III: The Return
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Summary of Changes and Words to the Wise

Summary of changes to the beacon
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Words to the wise
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Recommendations for Future Work

Immediate
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�QDetermine the causeof the excessivelylow dischargevoltagesin battery bank 2�� �$
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Longer Term

�QUpdatedriver card designto include inductors on board�� �/�<�=�G�K�C�I�@�8�F�9�B�8�9�F�H�<�9�7�5�F�8�G
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